A £ 0l &8 A G Ml A
202EE 20fat 2pts)

SN e

M £2 SNz(RELSE/CR)
SRl AE L S0EER A EEEEE))
o . AT
SA - BB CR(E) - HIRAY - BAS Of &b e HimE==T
A4 28,255,510 23,784,671 4,470,839
= 150,000
< 1,269,000
Al 26,836,510
£2 RA2(RELSE/EE) 9,313,281 12,701,616 13,388,335
= 150,000
< 170,000
Al 8,993,281
NE L SHECZ ALY 8,882,259 12,243,311 13,361,052
= 150,000
< 170,000
Al 8,562,259
c2F| 3,011,000 5,606,080 12,615,080
01 Al&HIZ S CHE| 3,011,000 5,625,000 2,614,000
01 Al 3,002,000 5,602,050 2,600,050
OB C2EHY 028X 24
100,000,0002! * 14! 100,000
OSHAt PRIEHAH(2E38) TRETIBAF
(M=) 2,000,0002! * 500m * 99.37/100 993,700
OBSp S5-3U0tS YW &1
300,000,008 * 14} 300,000
OSP4 22 =B NER(2E155) T
ZAHHAIZ) 2,000,008 * 150m * 99.28/100 297,840
OTHAP! S| A D-SHAHRI(RE3E) TRATE
ZA 100,000
—EXI0H 10,0002 * 1,000 100,000
ONSW-S4+W(PETE) T2 SHTIBAHLH)
96,000,0002! * 14} 9,000
ORA0 SH2|(NLEIH5) AR HEBA
402,902 * 250m * 99.28/100 100,000
O0lAHE AR|(RE115) HENZBAL
100,000,0002! * 14! 100,000
OQFHE! AQII~QHRHPE3S) HEETAL
100,000,0002! * 14! 100,000
OQHP SE12(RT125H) UITEXIZAHLH)
10,000,008 * 14} 10,000
OR4H S (2E584) HBIHFBAF
100,000,0002! * 14! 100,000
OSHA BAR|(2E38) SRET FHIZAL
500,002 * 400m 200,000
OQIHB S |SME~MTHHREIS) oI
EPEN 500,0008! * 300m 150,000
OHE~AIIHAR(PET7S) C22EZTBAL 45,000
AIEH 45,000,002 * 14} 45,000
OIFE1D-SX 72 SA2AER SX
200,000,008 * 14} 200,000




SA: AED
Hu: £2 K2 (RSYL2R/E2)
Bl AE ¥ SOHEEE A (el @)
= x 5 T bSEL
A - 2 SRA(3H) - HNRAY - BES Ofl &b oK 01l AtoH Hlw&2
OFFE g2l 2oad d ASFHIZA
500,0002 * 100m * 98.92/100 49,460
O#2 SFRIZ LD RES L YEoHyB
SR (FOIEC0f1A) 60,000,000 * 14} 60,000
03 Al& Ot 9,000 22,950 13,950
OEHt RPN (RE3S) E2SHTHTA
(=) 2,000,000 * 500m * 0.63/100 6.300
ORA0 22| S8R NCR(2E155) 2
TAHHIZ) 2,000,008 * 150m * 0.72/100 2,160
OF40 4312] ZE35H L ABIFHIBA
500,0002 * 100m * 1.08/100 540
=2 |4 4,328,759 4,922,231 593,472
201 Yt t| 716,556 608,631 107,925
01 AFRZ2/H] 32,105 15,240 16,865
O=2MA ABR(E2ER, S8, 2452)
6,000,000 * 14} 6,000
OTZE4+8 ARA 296 200,0008 * 128 2,400
ON&=e |
7,008 * 242 « 241 x 152 5,040
OEANE SAPYULI(EEZM0| 35)
50,0008 * 122 600
O+2¢ m=Hl % JIe 18,065
— N 100,008 * 158 1,500
—grs= 100,002 * 15¢ 1,500
RS 20,0002 * 153 300
—2Sx))| 100,002 = 158 1,500
_— 30,0008 * 153 450
—=ei5t 50,0008 * 152 750
—ZeQ 15,0002 * 15% 225
—2talt| 3,002 * 158 * 212 « 122 11,340
—T2EL GXIIEE 500,008 * 1Y 500
02 2B 684,451 593,391 91,060
OFIINEE 537,960
—J=s 6,0002 * 3,005 * 122 216,000
— OIS 6,0002 * 4,000S * 122 283,000
—JIZS HOAIAY S22
4,0008 * 2002 * 128 9,600
—9FD FBES L IIES M)
230,0002 * 122 2,760
—XSHHE EYS ®Ile
1,000,008 * 122 2,000
—SHYI HABIE S4HRIAL MIIQ3
300,0002! * 128 3,600
—SHXGE PLH2IAL HI123
200,0002! * 128 2,400




SN AL

ZH: T2 SN2(DEYSR/ER)

S AE U S0EEE AR (e e
o . - o PSIE [
SA - HY - SAGEH) - NRAY - BaS of sty e HIDS2

—NFFAE PARAE DIes
300,000& = 12 3,600
O&ExD ABE 5,640
—&IINEE 100,000 * 2044 = 12 2,400
—aotr=E 90,000& * 12& 1,080
S EEES 60,0002 * 43| 240
—201H| AIBE 60,0002 * 122 1,920
OE2E3 14 1,180
—S=UH 9802 * 104+ 100& 980
—5= Xl 200,000& = 14 200
Oz 2|8l FAlHI 16,826
—HI&o| 80,000,000& = 5CH = 2/100 8,000
—2eHam)| 1,000,0002 * 5L 5,000
—E2Bam) 250,0008 * 7% 1,750
—ASII 30,000,000 = 1CH = 2/100 600
—%447| REH
1,6408 = 104 » 302 » 304 1,476
O&J1 |AlH| 20,019
—=AD1(02L19213, 0.8m, 50(8H) 13,725
- =& 1,4303 = 104 = SAIZH = 150 10,725
2t 3,000,008 * 14 3,000
—JSEH(HEIINHA0.7E) 1,058
- 25U 1,408 * 24 = BAIZ+ » 50 858
z=clH] 4,000,000& = 1CH = 5/100 200
—0IFII(EsA) 2,468
el
164080 * 14 » BAI2E * 502 * 4T 1,968
- 42l 500,000 * 1CH 500
—O0lF 7| (2= 2,768
- 2=
1,6403 » 14 = 6AIZH » 502 * 4[H 1,968
z=cltl 200,000& = 4CH 800
ONaXY ¥ E22+ S48 2| 2| 4,760
—=2+3H 100,000 = 14CH 1,400
~su83 20,0002 * 1474 * 128 3,360
OBIZEH Itg |AlH| 48,711
-2=0
1,4308 * 164 * BAIZH » 902 = 2CH 24,71
—==c/t| 1,500,000& * 2CH 3,000
—E0I0 Al 500,000& = 1000 = 2CH 10,000
— AL REH00] 550,000 = 1004 » 2CH 11,000
O=ARZ R 42,950
~RB0 1,430% * 2.50 * 50kn * 2002 3.750




SN ALY
M T2 QAU NEYLSF/ER)
29l AT U S0ESE ALY (el &)
SM - BB B3I - NBAR - BYS Ofl Aot daz MimE==
0l e
—==2|H| 2,000,000& * 1CH 2,000
—EHOI] WAl 300,000& = 10JH = 1CH 3,000
—AL2LE0IN 220,000& * 10JH = 1CH 2,200
OEZ2RNNEXE & S|
2,000,000& * 2CH 4,000
OBIE E2=F K20
1,500 ~ 1264 * 128 2,405
206 MEH| 264,440 178,990 85,450
01 MHZ=HlI 264,440 178,990 85,450
OEzE4+E Mz P 146,500
—=0l= 11,2502 * 2,000% 22,500
—HH2=2t(600~1,000mm) 120,000& * 1002 12,000
—PEEH 30,000& = 400H 12,000
—BIBFAIPPEECH 250& = 40,000& 10,000
— SIS 250,000& * 300= 75,000
= 150,000& * 100€ 15,000
OEz23E4+E HAEP 122 16,200
¢t S 93 20,000& * 9 * 100 * 23| 3,600
—8HARE (1,000mm) 300,000& = 30H 9,000
—E2242 EAHH 300,000& = 12& 3,600
OXEXIEZH JI& 32,100
—BI8FALEE X2 70,000& = 30H 2,100
—HEEX|E 200,000& = 50H 10,000
—UEAYE GUREXD
3,000,000& * 5H 15,000
— 200D | E X2 100,000& * 500H 5,000
OUSETE T2 e R 9,840
—HIOIE 12,000& * 74 = 100K 8,400
-2 1,200 * Bkg * 200002 1,440
Qugk LRIEM T2 70,000& = 500 * 50 1,750
OEgHEsE MAJI(D20IH) D24 2l
400,000& = 100H 40,000
Oz 218242 &AM 2 18,050
—dI0|2 80,000& = 100m* 8,000
—0tAZ2 70,000& * 100& 7,000
—AHE 4,000& * 500% 2,000
—22% 4 35,0008 * 302 1,050
301 LEtENZ 2,250 0 2,250
09 SHAIABIXIRZ 2,250 0 2,250
Oa22 MK A
150,000& * 15Y x 13| 2,250
302 O|=L o242 79,013 87,450 N\8,437




SN A}
MM T2 AU WNELESR/ER)
SR ANE & SHEZZ A (42 &)
S EE . (1) - KISALY - BAS Ofl kot P MimE==T
- ) - ST o= 01|ﬂ'°—,” W
02 QIZIOITHGHY SEsEAZ 79,013 87,450 N8,437
ON&E&A SRIX 24
7,000& * 1509 = 15 15,750
OMAEZY S/AXMY|(HAD]) |2
1,430& = 150CH = 15 * 154 48,263
ONEzAdZ ESiy B8 Jtel
100,0002 = 150CH 15,000
305 HiA=S 11,000 11,000 0
01 & 2S 11,000 11,000 0
OE2Z2 A4 Ti0 [ 2E=AEHAI
1,000,000& = 10A 10,000
OASEAEN [ 2EZ0IS3(AME2) X2
(CHRIBtEH R OFsS X 2009LE3935)
1,000,000 * 14! 1,000
401 A2 E20HY] 3, 153,000 3,891,000 738,000
01 Al&H] 2,873,000 3,686,020 /813,020
OANE & SOHETZ AIH B2 A
400,000,000& = 14l 400,000
OANE ¥ SOHEEZ =7 HH|Z2AH
400,000,000& = 14l 400,000
OAIDERl & SMNRD| ZAE
600,000,000& * 14! 600,000
OS89 2% & sHEEZ E& TIMNR2D| Z2AH
200,000& = 1,000a 200,000
O2E 2 SOET2 B&UNE 23 L W
40,000
—THE=AH 200,0002 = 20002 40,000
Ot ¥ sHEEZ2 S2EX|E F|
250,0002 = 40002 100,000
OALEXTME D RAIEL 25,000
—XHHE D Al S X 20,000,000& = 14! 20,000
—J|H ¥ &HIAE SXl2e
5,000,000 * 14! 5,000
OsS8XoXE & sHetl-EZE X2t
(Ho 2 2==0H) 4,000,000 * 200 8,000
ONECHNAIZE Al & MREX(ZE2ESA,
CHEXY, IHAFME, SY22l 5)
250,000,000& = 14! 250,000
Q20223 AIEY HAMAIEAZE 398 Y, HD|IEH
= 550,000,000& * 14! 550,000
Q20218 AIEY AIEES &) & HUXEAZ M0
12 B2Z2AHAMER 2 5IHA) (EH)
50,000,000 * 14! 50,000
O2021E s=0lol & Molles=
500,000€ = 10002 50,000
OYGFMAHZBD|QIAAAL = T2 HH|
(HAMKRD], BEX|EH CIES)(&AH)
100,000,000 = 14l 100,000




SN e
BE: T2 SB(REYSF/E2)
S NS ¥ SOECE A (SH9): &)
= x 5 T bSEL
SA - HY - SAGEH) - NRAY - BaS of sty e HIDS2
O=t & s0lEcz 958 oM
160,002 * 250m 40,000
OYF HIABFZ BA FMDIITAHAN)
50,000,008 * 14! 50,000
OZ2eAzel IHWED SNE B2y 89
10,000,002 * 14] 10,000
03 Al&SCH| 280,000 204,980 75,020
OS2 ZTHIE BHIATHHS2)
50,0002 * 10CH * 102 50,000
OMHSB=H? FHIYTH(HE2)
50,0002 * 10CH * 102 50,000
ON&XS FHIYR 180,000
—wso 50,0002 * 6CH * 302 90,000
—gz 450,000 * 204 * 1002 90,000
405 RH&H3SH| 102,500 25,000 £22,500
01 RHAILSEFHSY| 102,500 25,000 A22,500
OReam| 1€ 14,000,002 * 1CH 14,000
O1€ M&dI(&e) 8,000,0002! * 1CH 8,000
OEES MAII(&E) 4,000,008 * 200k 80,000
OS24 AR TV 22 500,0002 + 1Tk 500
IIZS(20S) &X ¥ 24 992,500 1,645,000 £652,500
401 AlBILSCHY| 992,500 1,645,000 £652,500
01 A&t 990,340 1,638,232 ABAT 892
OJIZS HEE RH2AAL I
250,00021 * 802 20,000
OJt2S =l DA 100,008 * 5005 50,000
OII2S oIS SR
100,002 * 1,0000H4 100,000
OSHIS 47 oIS x|
1,000,002 * 1990 SSHS * 102 190,000
OYxD ABS ¥ JI2S ®I| SRz
20,000,008 * 14! 20,000
OYFY MX| B4 HUS SX|(BW29,014191)
1,000,008 * 205 20,000
OUILIXI ForAte) LEDRIOS JHRIBA
1,200,008 * 2505 * 99.28/100 297,840
OLED SJI7 RAIBAL 80,0008 * 100744 80,000
OZAIPZINLES 2I8 =5 JI2S DAI(&H) 115,500
—LASOHIE-ZEFRL 72 JI2S DA
N 6,500,000 * 14] 6,500
— 2L E-HRAHAE 72t IIRS Al
2 =17 A 4,500,002 * 14! 4,500
—HEHAHZ-HET 72 JIRE Ald
SOI17 2R 8,000,000 * 14! 8,000




SN
X ZH:
[ I

&l

At
T2 SN2 NELER/E2)
ANE 2 SHEZZ ALY

o
10
B
[0

S - R - SRIEH) - ARAY - BAS e Cie HImE2
—&YW-H2UIZ 2t IIRS ME
5,500,000 * 14} 5,500
—NQIBHBESA T2 IIRS AlM
4,500,000& = 14| 4,500
— &2~ FueMIEE 1N 722t JI2S A
7,000,000& » 14| 7,000
—SANXE~AHWIE 72 == JI2S
mps| 5,000,000& » 14] 5,000
—5IUALS-HROME 72 =% IS
b 6,000,0008& » 14 6,000
—ROAUIHHEF=RA 72 OI2S M4
4,500,000 » 14] 4,500
EoH R ERL P2 LRII2S
WHISAH 12,000,000& * 14 12,000
~SYDAE-NUESH 72 =IIHES
WHISA 12,000,000& » 14] 12,000
—EHEAEN P2t =2 JOI2S WHISA
10,000,000& = 14! 10,000
—SlfZe2x~EFn 72 =SIOt2S WX
SAt 10,000,000& » 14] 10,000
—NEESSU~ASOHHE 72 =22 S
WHISAH 6,000,000& » 14| 6,000
—S|ISadE~3IIBed 2 =2ItRS
WHISA 6,000,000& = 14| 6,000
—=8uXE~EHIE A2 JI2S W4
8,000,000& = 14! 8,000
OFAXIP 2OS ST BA Fei(F0IF0I0)4)
97,000,000 * 14 97,000
03 AIZS0HY 2,160 6,768 A4,608
OO0IX Z2AIE LEDEOHS MBS AL
1,200,000& * 2505 * 0.72/100 2,160
(E) XSS Z ALY 250,000 50,000 200,000
= 125,000
Al 125,000
401 AlEHIZL SO0 250,000 50,000 200,000
= 125,000
Al 125,000
01 Al&H] 250,000 50,000 200,000
Og2d €22 SFA g7 wEHHISA
2,500,000& * 40m 100,000
S 50,000
Al 50,000
O=&H Hi&Z2e| =H7= WEHESA
10,000,000 = 15m 150,000
= 75,000
Al 75,000
(B)SZAK ZIFEAAE 2FAY 300,000 0 300,000
= 150,000




S A
Hu: 2 RX(DEYSR/E2)
o9l NS L SHEZZ A (=E LD
% s T e =
A - FB . CRI(31) - HIRAIY - BAS 0l kot S nion HlDE2
= 75,000
Al 105,000
401 AIZHIL 2T 300,000 0 300,000
2 150,000
= 45,000
Al 105,000
01 AlZH] 300,000 0 300,000
ONAXIT FIYSAIAE A
300,000,000 * 14! 300,000
2 150,000
= 45,000
Al 105,000
c2HE 2 60,022 53,121 6,901
2Lat 212l 20,000 15,000 5,000
401 AIZEI LS TH| 20,000 15,000 5,000
03 AI&=CHE] 20,000 15,000 5,000
O2TRUM 5 +42(52) 20,000
—sEsy 500,002 * 202X 10,000
—A=Y 500,002 * 202X 10,000
CHy FY| 40,022 38,121 1,901
101 ©1248] 39,572 37,671 1,901
04 ORII2ENS 2+ 39,572 37,671 1,901
OL-EN HE(SH%) L T2HES AHEA 22
73,0802 * 32 * 1802 39,572
201 Br2y| 450 450 0
01 AFR2aH] 450 450 0
OIEEE-EEEY 450
—2e= 150,008 * 19 150
— s 200,002 * 194 200
—ctat 10,0002 * 194 100
gs 2l 371,000 405, 184 £34, 184
A2 371,000 405, 184 £34, 184
201 Br2Y| 4,000 4,000 0
02 222 4,000 4,000 0
OAZ=2(0l4) ZHIA KRS
4,000,0002 * 14! 4,000
307 RI2H0IH 320,000 350,000 30,000
05 DIRISIErS 320,000 350,000 230,000
OALS(014) BHISS BeIIE
320,000,000 * 14! 320,000
401 AIZBIZ 2T 32,000 22,000 0,000
01 AIZH] 32,000 22,000 0,000




SA: AL
Y £2 SNN(DELSR/ER)
el 2Ags e (SH9): &)
o . - o PSIE [
A - B SR(Z) - MRAY - BES Ofl &b oK 01l AtoH HnS2
OAZ=(01) FI=0F BAE+
22,000,000 * 14! 22,000
OALS(014) ALE0F RXIP2
10,000,000l * 14! 10,000
403 TXIEHH SXH201E 15,000 29, 184 A4, 184
02 DO HSHHE R =R I EAIIE] 15,000 29, 184 A4, 184
SUNEIEEIEWEREE
15,000,000 * 14! 15,000
KRS (FELTI SN/ AU AI) 6,126,710 4,298,851 1,827,859
< 782,500
Al 5,344,210
ohet 5,268,710 3,940,851 1,327,859
= 782,500
Al 4,486,210
ZOIAY 3,703,710 2,530,851 1,172,859
201 E2Y] 5,151 0,200 A5,049
01 AFR22H] 4,500 6,000 A1,500
OSUE FoUXAAY BSaHE 2(RBM,
SXH, Z2H, EH) 1,500,008 * 14 1,500
OAITIE, 3252 BE2X A8R
1,500,000 + 14 1,500
OF« HY-B™IANTZ HE2X AR
1,500,000 * 1& 1,500
02 BB 651 4,200 £3,549
SYOISS(AZE) NS (KRN LRSI
20097}£6837) 651,002 * 141 651
401 AlHI LS THY| 3,648,559 2,480,000 1,168,559
01 AIZE] 3,631,981 2,470,280 1,161,701
OA7S FOXZA  1,000,000,0008 * 141 1,000,000
0472 NES(2), LD, 2 S)
213278 200,000,0002 * 141 * 99.28/100 198,560
OBT-DE2 HLT2 HEBA
1,000,000/ * 1,000m * 99.37/100 993,700
OJ1228 HIS-ABEZ H1Z BA
500,002 * 200m * 99.28/100 99,280
OJI22E HINESZ o 42 SXITBA
200,002 * 400m * 99.10/100 79,280
OHTES HH|StD Q12 HLSX T2 HEBA
200,002 * 400m * 99.10/100 79,280
OXYUS 68 =20 N2+
100,000,0008! + 14! * 99.28/100 99,280
OLRD FOIHRAALY 1,082,601
—52 HTF DN
70,8332  2,400m * 99.28/100 407,048
—FZ HUIBA
112,727  5,500m * 99.37/100 616,093




SA: AL
M AT (SELX SN/ NALZA)
el XISp (EE R
o . - o PSIE [
A - 2 SRA(3H) - HNRAY - BES Ofl &b oK 01l AtoH Hlw&2
—tH+2 ZHIBAH
120,000 * 500m * 99.1/100 59,460
03 Al&=CHH| 16,578 9,720 6.858
OFT-NE2 HHEZ HEBA
1,000,0002! = 1,000m * 0.63/100 6.300
OJ228 HDS-ABEZ HZ BA
500,002 * 200m * 0.72/100 720
OJIZ2E HINESZ o Bi42 SXIBA
200,002 * 400m * 0.90/100 720
OFTES WHIS 012 HERX T2 HEBA
200,002 * 400m * 0.90/100 720
OXYE 68 =30 22
100,000,002 * 141 * 0.72/100 720
OLR2 FOHAALY 7,398
—s52 HTF DA
70,8332 * 2,400m * 0.72/100 2,952
—ZYZ FHIBA
112,727  5,500m * 0.63/100 3.906
—BH4Z FHIBA
120,000 * 500m * 0.9/100 540
402 BIEXHROIE 50,000 40,000 10,000
01 BIRIIE AT B (RHAITR) 50,000 40,000 0,000
OnI2s@ 24(2X8 F)
50,000,000 * 141 50,000
(S)EHAZERX2E 0,000 0,000 0
= 5,000
Al 5,000
401 Al &BI LR THY| 0,000 0,000 0
= 5,000
Al 5,000
01 AIZH] 0,000 0,000 0
OSHAES RT2I(+E, 012, 20H)
10,000,000 * 14! 10,000
= 5,000
Al 5,000
(S)ADIESZ=ISTIAY 1,555,000 1,400,000 155,000
= 777,500
Al 777,500
401 Al&EI L2 0HY| 1,155,000 1,400,000 245,000
< 577,500
Al 577,500
01 AIZH] 1,155,000 1,400,000 245,000
0248 +52| S2¥ FHIBA
25,000,000 * 14] 25,000
< 12,500
Al 12,500




[0

S A
BE: X AREHL(RELILNL/ KLU EAI)
el XIS (etel: &
S - R - SRIEH) - ARAY - BAS e Cie HImE2
OO0l &t Algfee] CIES =2 ZHISA
100,000& * 300m 30,000
= 15,000
Al 15,000
O0l&tdH Ald3el 2= =2 ZHISA
150,000 = 200m 30,000
[ 15,000
Al 15,000
OE=H 8822 =2 ¢ =2 23At
600,000& * 100m 60,000
= 30,000
Al 30,000
O#Esd 2222 0=tz ZHISA
250,000& * 400m 100,000
[ 50,000
Al 50,000
Og=2d €22 2= -2 ZHISA
125,000& * 400m 50,000
= 25,000
Al 25,000
OE2H E212] JIE2 =2 SAt
150,000& * 200m 30,000
= 15,000
Al 15,000
OZ+H S23c| g4z AE FHISA
600,000 * 50m 30,000
= 15,000
Al 15,000
Ot AE32| OS2t =2 3A
1,000,000& * 50m 50,000
= 25,000
Al 25,000
OF4 SHI2 6772 52 U H42 A
50,0003 * 200m 50,000
S 25,000
Al 25,000
OO0 gta2e] Zi6sd 23 S EHIAMY
0,000,000& * 14| 30,000
= 15,000
Al 15,000
O2=+H 2teHe| clE2045 =2 A FHIZA
1,000,000& * 50m 50,000
S 25,000
Al 25,000
OS&H 32| =2t ZEIA
50,000& = 2,000m 100,000
= 50,000
Al 50,000
Oy 22| 3= == AtH JHISAH
400,000& * 100m 40,000
[ 20,000
Al 20,000




SN

X‘liH:

A&
KDY (2EL XL/ X 2L Al

el XIS (el &)
S - R - SRIEH) - ARAY - BAS e Cie HImE2
OorEDl =212 tie= AxI2A
150,000& * 200m 30,000
= 15,000
Al 15,000
OQHED! 01Z12] OIS0 2 AXITA
150,000 = 200m 30,000
[ 15,000
Al 15,000
ORE3S OB 52 TFTA
150,000& * 200m 30,000
= 15,000
Al 15,000
OLEs ANE1254H AIH ZHISA
4,000,000& = 20m 80,000
[ 40,000
Al 40,000
Othets 22| 0= OtAE HESA}
100,000& * 300m 30,000
= 15,000
Al 15,000
Ot Hatel 2g& 22 =228 & i+
ZHISAH 250,000& = 400m 100,000
= 50,000
Al 50,000
O=g8d U=12| 0= &d & i
ZHISAH 500,000 = 200m 100,000
= 50,000
Al 50,000
O3718 H1el 1ML =2 ZHISAH
25,000,000& * 2JHA 50,000
= 25,000
Al 25,000
O2+H 312l ME ZHIZAt
300,000& = 100m 30,000
T 15,000
Al 15,000
402 RI2HXH=01H 400,000 0 400,000
= 200,000
Al 200,000
02 QIEXFEAIE E (01X TH) 400,000 0 400,000
OJtE1S HRUl 01232 A=A
200,000,000& = 14 200,000
T 100,000
Al 100,000
O=2+H 312l 0ISsl2 A=3A
200,000,000& = 14 200,000
= 100,000
Al 100,000
LA A 858,000 308,000 550,000
A2 858,000 308,000 550,000




2AM: HED
Ha: IHDEEINL(2EL XA/ KAL)
CHr UBHE T AS (Ch9): H2l)
] _ - PSJE]=
2A -3 A2(ZH) - MRAR - BES 04| Ao '@Eou Hins2t
201 LEH2HH| 8,000 8,000 0
01 AtR22teld| 8,000 8,000 0
OETAE JIEL IR ESEH(SE, THHE S)
3,000,000& * 14 3,000
O SEHEE Y S2EH SHEHET
SEEHK S ME 5,000,000& * 1A 5,000
403 AXIHHSAE01 ™ 850,000 0 850,000
02 S| 2SHUSHA=X K E AL 850,000 0 850,000
OYFA OIMHAASZ ZAl
8,500,000,000& = 10/100 850,000
SN sEHMHLFTA/ =Y - 5) 11,931,200 5,812,702 6,118,498
< 286,500
Al 11,644,700
S8ty 8,761,200 5,812,702 2,948,498
= 286,500
Al 8,474,700
2lAIE N2 2,081,200 1,286,702 794,498
201 2BH2AY| 151,200 134,700 16,500
02 33244| 151,200 134,700 16,500
Ot sHES FEAHA 222
110,000 * 1202 13,200
Z2lH =2lAEE |X22H(FIILS)
300,000& * 46042 138,000
401 AlZHIZL20HY| 1,330,000 952,002 377,998
01 Al&H| 1,319,164 945,193 373,971
=2lAld 2122 44| 100,000,000& * 14! 100,000
2| H FelAIE2 SXI22l(I1H, &I,
2=ZOH B%) 200,000& * 450042 90,000
OZ2KMAH(RN) =& 42 10,000
—IFMEHF)) SESS =42
500,000& = 10X 5,000
—IRMEH(FH) BHSY =22
500,000& * 10E X 5,000
OZ=ClAlE IHE=(4=ClAlEYst) 1,119, 164
—GFA SEE LE HEMO ZH] EXISAL
300,000,000& * 141 * 99.28/100 297,840
—E)|5 a2 =42 FHUIZ2Al
200,000& * 250m * 98.92/100 49,460
—2Jl8 S552 s+ HUISAL
200,000& * 150m * 98.92/100 29,676
—OtM X Q@322| =2 HUIZAl
200,000& * 200m * 98.92/100 39,568
—OMN G 22| Hi=2 HHISA
100,000& * 300m * 98.92/100 29,676




A A4
MM SEIH(SDHBLA Y - =X)

9l =QiDIBIEY (EHol: =)
- - bSEL
A - 3 SR(Z) - MISRAY - BES AHoH 01l AtoH z
—OIEH BiHel EaBE AXBA
40,0002 * 2,000m * 99.1/100 79,280
—=80 L3Hel 42 FHIBA
200,009 + 150m * 98.92/100 29,676
—=E0 #3712 Hl2l SeAANLHSSA
40,0002 * 2,000m * 99.10/100 79,280
—2401 (1222l 42 SXTA
100,000 * 250m * 98.92/100 24,730
240 ZHRR| YT BB SXBA
20,000,002 * 141 + 98.92/100 19,784
—2401 BAR] OIS O BHAZE FHIBA
200,002 + 200m * 98.92/100 39,568
—0lAEt AF12] ASLHB BhE ZHIBAL
100,0002! * 300m + 98.92/100 29,676
—0I4HE! 2200 EHB UHHZ FHIBA
100,0002 * 300m * 98.92/100 29,676
—0l4HE! XIS22| 40t Hi+2 FHIZA
100,0002! * 150m + 98.92/100 14,838
—F0t 2a22] D122 9 144 tH42
HHIZAF 200,002 * 250m * 98.92/100 49,460
—Bop g3 BBYAA 9 4 84
HHIZAF 250,009 * 200m * 98.92/100 49,460
— NS 55 RQES UJi2l £2 th4a2 FHIBA
200, 00021 + 250m * 98,92/ 100 49,460
2A 508 S2AM FHIZA
15,0002 * 400m + 98.92/100 49,460
—CHARY P72 BB SXIBAL
200,002 + 250m * 98.92/100 49,460
—IIE1S LR 42 SXTA
200,002 + 200m * 98.92/100 39,568
—E81S ST SHAE LXBA
200,009 + 200m * 98.92/100 39,568
03 Al SCHY| 0,836 6,809 4,027
O=2IA4 2+ 10,836
—YTAl SHE YT HIHO| LU LXIZA
300,000,0002 * 141 * 0.72/100 2,160
—2)IS #aRel 548 FHIBA
200,0002! + 250m * 1.08/100 540
—2)Ig S¥52] 548 FHIBA
200,002 + 150m * 1.08/100 a4
—OHEBt @2l Hh4E FHIZAF
200,000 + 200m * 1.08/100 432
—OIHE 22| B4R FHIBAL
100,0002 * 300m + 1.08/100 34
—OIHE BAHR| BARE MXBA
40,0002 + 2,000m * 0.90/100 720
—=E0 L3H2l B4R FHIBA
200,002 + 150m * 1.08/100 304




SA 220
HZH: _‘.—__:‘.t_me(_'.—_algHot

SE RSPl (SH9): &)
s _ HEAE =
A - B SR(Z) - MRAY - BES Ol &kt 01l AtoH HnS2
—ZE0 F700] Bl 2o ANEHERAY
40,0002 * 2,000n * 0.90/100 720
—240 H222] thER HXITA
100,000 * 250m * 1.08/100 270
—2401 TRl YT LV LBM
20,000,000 * 141 * 1.08/100 216
—2401 BMD] OIS OF BHAE FHIBA
200,002 * 200m * 1.08/100 432
—0IAHR1 AlF 2] ASLAB BIAZ FHIBA
100,000/ * 300m * 1.08/100 34
—0IAHR1 2202 A W42 FHIBA
100,000/ * 300m * 1.08/100 34
—0I&HB1 XIS22| 4018 W42 HHIBAH
100,000 * 150m * 1. 08/100 162
—ZA01 24122) OISR 9 14 B4
HHIZA 200,002 * 250m * 1. 08/100 540
—m2o g3 IR 9 4 842
HHIZ AL 250,002 * 200m * 1.08/100 540
—AOS 55 223 Y2l 22 W42
HUIBA 200, 00021 * 250m * 1.08/100 540
—SA0 SOI8 2lAE FUIBA
15,0002 * 400m * 1.08/100 540
—CHIE P7| PR AXIBA
200,002 * 250m * 1.08/100 540

—JIE1E HRU =2 ZHISAt

200,000& * 200m * 1.08/100 432
~SH1S STH B SXTA
200,000& * 200m = 1.08/100 432
403 XIS MIEXHZ0]H 600,000 200,000 400,000
02 ZII 2 SOICHE R == I EA ] 600,000 200,000 400,000
O42IAILE SRZLIH BE(H2S0E2A)
300, OOO OOO% 14l 300,000
ORAP L2X|7 S4B2 MABAHSRS0E
SAH) 300,000,000& = 14! 300,000
Q=R ALY 3,551,000 2,880,000
AEHIRL RO 3,551,000 2,880,000
A& 3,525,446 2,863,162
OorEpl MBla] 20| MXIBA
100,000,002 * 1A * 99.10/100 99,100
OB2P AS2| OLAR HMSI|BA
65,0002 * 2,000m * 99.28/100 129,064
OmAP SH2R| OIAR HMSI| A
80,000& = 500m * 98.92/100 39,568
Omsipl sHE2| DRNHBA
10,000,000 * 10m * 99.10/100 99,100
OB40 SH2| SYSE 012 Bi42 FlAY
50,0002 * 200m * 98.92/100 29,676




A A4
I =EJ L (S RGHULA/ =0 . =E)

ool eplmEs (Chel: 1)
SM - BB B3I - NBAR - BYS Ofl Aot daz MimE==
0l e
O&4H SH12| SESE 012 sZAHH HH|
2 Ak 1,000,000 * 40m * 98.92/100 39,568
OF=2E2RAIE 229,186
—=2 AIHBZ
300,000€ = 490m * 99.28/100 145,942
—thaz =7
200,000& * 420m = 99.10/100 83,244
OA2 SEF0=JAAY 2,860, 184
S ELEDAL
180,000€ = 1,000m * 99.1/100 178,380
—&Z HHIZBAF
142,308% * 5,200m * 99.28/100 734,674
—0I20t2 HHISAL
200,000& = 6,900m * 99.37/100 1,371,306
—Hi=2 HH|Z2At
170,588% * 3,400m * 99.28/100 575,824
03 Al 20HYI 25,554 16,838 8,716
OPHE™ MEle| 21 AXIZAH
100,000,000& * 141 = 0.90/100 900
OHEHE2H 2USel OIAE TMNRI|BAE
65,0002 = 2,000m * 0.72/100 936
O&4=H SH22| OtAE ML) |2 AL
80,000 = 500m * 1.08/100 432
O=8H stEe| WEINHMZ A
10,000,000& * 10m * 0.9/100 900
O&4H X112 SY=sE 212 2 ALY
150,0009 * 200m = 1.08/100 324
O&4H SN2 SESE 212 sZAHH HUIZAl
1,000,000€ * 40m = 1.08/100 43?2
OFlsZ2= A 1,814
—=Z AIHEZ 1,058,000& » 14l 1,058
—ti=Z 53 200,000€ * 420m = 0.90/100 756
OAA2 SEF0=JAAY 19,816
—S2 EILEZTA
180,0002 * 1,000m * 0.9/100 1,620
=& Z HHIZBAF 5,326,000& * 14! 5,326
—0I=20ot2 HHISAL
200,000&! * 6,900m * 0.63/100 8,694
—Hi=2 HH|Z2At
170,588% * 3,400m * 0.72/100 4,176
SHEEZ ALY 2,390,000 470,000 1,920,000
401 A EHIYL 204 2,390,000 470,000 1,920,000
01 Al&HI 2,390,000 470,000 1,920,000
OZJ|S 0|22/ gzed|jal(elE208s) st
SAHAIZE) 2,000,000& * 500m 1,000,000
OHHAH HAR(HE102S) 2SI Z A2 AL 100,000




SN A8
Hu: sENL(SYHYSM/SY - S&)
©9l: SI|PEY (242 &)
S - HZH . CI-_?_|(§D1|) - HIEAIY - HAZ O AFOH AT Hmn=2
- (= B - iy e &= 0:"&.0_‘” US55
—EX0 100,000& = 1,000m" 100,000
O2+H S212(HE1028) dEHINBSAHAS)
2,000,000& * 250m 500,000
OR40 2312l =4 MEUZ HE3AM
2,000,000& * 50m 100,000
Os8d tEe(2l=2018) M8 & St
SAHEHA) 15,000,000& * 14 15,000
OZF=0 HiRg|(4H9) HE101sd &2 FH|
SAHAHA) 10,000,000& * 14! 10,000
OmSot #=2|(21E2035) TGO Al ZHIZAS
1,000,000 * 100m 100,000
OB20 B2l YD =3 S8 HZA
1,000,000& * 100m 100,000
O01&HH XIS32l(2l=2028) A& IHESAL 45,000
— & AN 45,000,000& * 14! 45,000
OFE8 ==X+ FH(HEI2SH) S4
SAEX EX 130,000,000& * 14! 130,000
OSFHYUANLEZ2(HZ018) &2 SEESA 100,000
—EX24 200,000 * 500m" 100,000
OHEM==X~EHEHARE) S 2 SEEIAL 45,000
—alAI&H| 45,000,000& * 14 45,000
LR EE303) E2 SEESAl 100,000
—EXZ4 200,000& = 500m* 100,000
Os0HEEZ JI2HE HEEY 45,000
— & AEH 45,000,000& * 14! 45,000
() THololE =S| AlIdEY| 280,000 300,000 220,000
< 84,000
Al 196,000
401 AIEHIZL 2B 280,000 300,000 A20,000
== 84,000
Al 196,000
01 Al&HI 280,000 300,000 20,000
OF==H JIEX Mol ====clAlE &l
00,000,000& * 1A 200,000
< 58,000
Al 142,000
OE2H O™l Moo ====clAlE &Yl
80,000,000 » 14l 80,000
== 26,000
Al 54,000
(Z)M=XIHE A 14,000 14,000 0
& 4,000
Al 10,000
401 AIEHIZL 2L 14,000 14,000 0
& 4,000
Al 10,000




SN AL
B SEN(SHNLSM/ S - 5E)
Chel: Eei|uE (=EIE-E)
- _ _ AT
SA - 3 - R(SH) - MRAY - BAS Ol &k OH 01l AtoH HwE2
01 Al&HI 14,000 14,000 0
OM=XIHZZEHI 14,000,000 * 14 14,000
= 4,000
Al 10,000
(C)FOISRSA M S| 325,000 0 325,000
= 162,500
Al 162,500
401 AIEHIZ 2048 325,000 0 325,000
< 162,500
Al 162,500
01 Al&HI 325,000 0 325,000
OYZAl ISR B4IHLA
20,000,000 * 10944 200,000
= 100,000
Al 100,000
OYFAl LRI IISUR SLIHLA
12,500,000& * 10044 125,000
< 62,500
Al 62,500
(22 AIENA 120,000 72,000 48,000
< 36,000
Al 84,000
401 AIEBILSHY| 120,000 0 120,000
= 36,000
Al 84,000
01 Al&HI 120,000 0 120,000
OLF2EAEMNA 120,000,000& * 14! 120,000
< 36,000
Al 84,000
sZ=2HZE| 3,170,000 0 3,170,000
IIZMEI T ANRRBANL) (HEAI) 3,170,000 0 3,170,000
403 XXM S XH=Z0]H 3,170,000 0 3,170,000
02 SI | 2SOICHEtAR= X LIEFAF I 3,170,000 0 3,170,000
OS40 YK L4T SXIBAHERSOESA
2,870,000,000& * 14! 2,870,000
OOlAE Z2XT AND BANLAI (B2
HEZSAL) 300,000,000& = 14! 300,000
HE2HAYI(HA) (DIEH/IIEH 884,319 971,502 287,183
< 30,000
Al 854,319
eIz 23] 759,117 834,462 AT75,345
< 30,000
Al 729,117
QI 2| 323,630 398,975 AT75,345
101 Q1244| 323,630 398,975 AT75,345




SN AL

R wESAHI(AI) OIEIIE
crel: o2y G=CE-E
S - R - SRIEH) - ARAY - BAS e Cie HImE2
03 SRH(RIH) 222+ 323,630 356,860 A33,230
O=ZeIFY 323,630
—&2+g 2,470,620 * 50% * 15& * 23 37,060
—gSESIHI
2,470,620 » 75% » 158 = 23] 55,589
—IE=E 11,280
BH<> Xt 40,0002 = 9& * 123 4,320
JIE 20,0003 » 299 » 128 6,960
NI
23,6502 = 15AI12H = 156 » 123 63,855
—5L2R+E 189,200& » 252 = 159 70,950
—gdRsRt=g
126,130 = 13 159 24,596
—S+g2=g 70,000& = 152 + 128 12,600
—gasd 150,000& » 1€ » 128 1,800
— X3 75,0003 » 38 » 12& 2,700
==l 140,000& » 15& = 128 25,200
—uWSEXH| 100,000& » 15% = 128 18,000
(S)Xg=2E 2124 435,487 435,487 0
< 30,000
Al 405,487
101 21244 435,487 435,487 0
S 30,000
Al 405,487
03 SRA(PIAL) 222 435,487 435,487 0
O==2% 21FY 435,487,000& * 14| 435,487
[ 30,000
Al 405,487
Jl=3H] 125,202 137,040 11,838
Jl=3H 125,202 137,040 11,838
201 k=g 28,722 32,100 A3,378
01 At22teld] 28,722 32,100 A3,378
OSAZA 7Y 16,0008 » 228tA = 123 4,224
OE20HAldI 7,000 » 64l = 22 » 123 11,088
Ogttez 100,000& = 12 1,200
OLn2 EM-EH 50,000& » 12& 600
O47l =4t 11,610
—SADI(THE) el 1,000,000& = 1.5CH 1,500
—Z2lE =2 100,000& = 5CH = 50/100 250
—SAD| EH 200,000& = 53| = 1.504 1,500
—IOZIE(5E%) EH 200,0008 * 53] 504 5,000
—IOglEf(Ze]) EW 200,0008 » 53] = 1CH 1,000
—PC ==cl 100,000 = 22CH = 20/100 440




S AL
M HH2LZH(AL D) (JIEHDIIE}
thelr D23t CERE)
] _ - PSJE]=
SA - 3 - R(SH) - MRAY - BAS Ol &k OH 'Oﬂ,l\_;ou HwES2
—JIEt ==2Ib| 50,000& * 123 600
—JIEt AtR2teltl 5,000& * 229 * 123 1,320
202 oYl 90,000 98,280 28,280
01 2LH0d8l 90,000 98,280 18,280
O2UHH(HAZE 1Y ZL§)
0,000% * 23 » 122 » 128 66,240
O=2 04t 90,000&4 * 229 * 12 23,760
203 =&l 5,280 5,460 A180
04 FN2EHRFAHI 5,280 5,460 A180
ORN2IEERFA| 440,000 = 123 5,280
204 2= AHH| 1,200 1,200 0
01 SR 1,200 1,200 0
O AR M AH|(HE DA
100,000& = 1& = 123 1,200






